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The First Indian Women Preside a
session of Indian National Congress was

(a) Rajkumari Amrit Kaur
(b) Vijaylaxmi Pandit

(c) Aruna Ashraf Ali

(d) Sarojini Naidu

French Revolution took place in the year
(a) 1776

(b) 1778

(c) 1789

(d) 1792

The Revenue Minister of Emperor Akbar
was

(a) ‘Raja Todarmal
(b) Raja Birbal
(c) Maan Singh
(d) Abul Fazal

Mahatma Gandhi was born at
(a) Allahabad
(b) Junagadh

(c) Porbandar
(d) Surat

The First Round Table Conference in
London was held in

(a) 1929
(b) 1930
(c) 1931
(d) 1932
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Who is the first Indian to win Olympic
individual Gold medal ?

(a) Karnam Malleshwari
(b) Rajavardhan Singh
(c) Abhinav Bhindra

(d) P.T. Usha

The first Indian Music Director to win an
Oscar is

(a) R.D. Burman
(b) Naushad

(c) A.R. Rehman
(d) O. P. Nayyar

Who was the first Indian to receive
Nobel Prize ?

(a) H.G. Khorana

(b) C.V. Raman

(c) Amartya Sen

(d) Rabindranath Tagore

Who is the author of Kusuma Bale ?
(a) U.R. Anantha Murthy

(b) Girish Karnad

(c) Kuvempu

(d) Devanur Mahadev

Central Food Technological Research
Institute is located in

(a) Mysore
(b) Belagavi
(c) Tumkuru

(d) Bengaluru
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The source of energy of an eco-system is
(a) AT.P.

(b) Sunlight

(c) D.N.A.

(d) R.N.A.

A “pixel” is
(a) A computer programme

(b) A picture stored in secondary
memory

(c) The smallest resolvable picture

(d) None of the above

Foot and Mouth disease is found in
(a) Cats and Dogs

(b) Cattle

(c) Poultry

(d) Humans

Vishwanathan Anand is associated with
(a) Football
(b) Cricket
(c) Chess

(d) None of the above

Largest gland in human body is
(a) Liver

(b) Pancreas

(c) Thyroid

(d) Kidney



CPC -2016

[ 21,

|

22.

2,58 11,14 ____ S goaad
Berotod Fons Hosd oo 1 Fne.

(a) 18
AT 17
(c) 19
(d) 16

RN} oRRRROAE FPO' VHTOD 200
0% oa8 10.00 rotdrt Ac) Beeroes. A
BrerbRyas oo Rnoe OF SR RTRBF
&R0 famd eRgo LRI, azdehmart
R D), Moty TV 3 WA ?

“Ta) 14
(b) 12
(c) 11

(d) 4

ot g T GRrSoRER R Mo

: gdzsaaadzﬁd)aimddﬁai e, ord B

rlosdR 60 #2008 SO, TR a&ﬁ DLy
raaimoab 0 o3t 40 8.20¢. Ienzd c.,éé-.b
mﬁ 20T Je0mow a'a’mbo:bo BORTR.

o:ind B000B9 SORR FTND ma’ﬂ%ocb
350 &.20¢, £2030T9TFsS ?

(b)) 4.30 33,
(b) 2.30 B,
(c) 3.30RRF
(d) 5.30 3RS

21.

22.

23.

I
Fill in the noxt number in the sorcs
2,5‘8,11,14 i
(a) 18
(b) 17
(c) 19

(d) 16

A tired Police Officer. went to bed at
10 O’ clock one night after setting alarm
clock forinoon the following day. When
the alarm wake him up how many hour

had he slept 7
(a) 14
(b) 12
(c) 1

(d) 4

Two cars leaves a road side Restaurant
at 1:00 p.m. One Travelling East at
60 Km/ Hr and the other travelling West
at 40 Km/Hr along with a straight
highway. At what time they would be
350 Kmapart ?

(a) 4.30p.m.
(b) 2.30 p.m.
(c) 3.30p.m.

(d) 5.30p.m.
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A Businessman invests Rs. 5,000 each
time at the end of 1960, 1965 and 1970.
His total amount doubles every five
years. If he starts his business with Rs.
5,000 in 1960, what will be the amount
in 1980 7

(a) Rs. 70,000/-

(b) Rs. 1,40,000/-

(c) Rs. 2,40,000/-

(d) Rs. 2,80,000/-

LCD means

(a) Liquid Crystal Display
(b) Light Compact Display
(c) Lysergic Compact Diode
(d) Long ChainDevice

A train 180 meter long is moving at
90 km per hour. The time taken by the
train to cross a tunnel 120 meter long is

(a) 20 seconds
(b) 12 seconds
(c) 15 seconds
(d) 125 seconds

If BAT = 23 and CAT = 24, then BALL =
(a) 27

(b) 28

(c) 32

(d) 120

Brass is an alloy of

(a) Copper and Zinc
(b) Copper and Lead
(c) Copper and Tin
(d) Qopper and Nickel
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The main source of energy in a star is
(a) Nuclear fusion
(b) Nuclear fission
(c) Nuclear disintegration
(d) Gravitational collapse
The molecular formula of “Sucrose” is
(a) C; Hs OH
(b) Cyp Hap Oty
(c) Cg Hia Op
(d) CHy OH
Speaker of Karnataka Legislative
Assembly is
(a) Sri Kagodu Thimmappa
(b) SriB.L. Shankar
(c) Sri D.H. Shankar Murthy
(d) Sri K.B. Koliwad
The first University of Karnataka is
(a) Bengaluru
(b) Hampi
(c) Mysore
(d) Shimoga
Who has written the poem “Udayavagali

Cheluva Kannada Nadu” ?
(a) Kuvempuy
(b) Rabindranath Tagore

(c) Huilgol Narayana Rao
(d) Chennavir Kanavi
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In which of the following districts Nandi
Hill is situated ?

(a) Mysore

(b) Chikka Ballapura
(c) Chitradurga

(d) Koppal

Saka Era was started in
(a) 78 B.C.

(b) A.D.78

(c) 300 B.C.

(d) A.D. 124

‘A’ is twice as/good as workman ‘B’ and
together they finish a work in
18 days. In how many days ‘A’ alone
will finish the work ?

(a) 31 days

(b) 25 days

(c) 27 days

(d) 29 days

Anil after travelling 6 Kms towards East
from his house realised that he has
travelled a wrong direction, he turned
back and travelled 12 Kms towards
West, then turned right and travelled
8 Kms to reach his Office. The straight
distance of his Office from his house is

(a) 12 Kms.
(b) 14 Kms.
(c) 10 Kms.
(d) 20 Kms.
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39.

A Shop Keeper brought locks at Rs. 34/-
a dozen and sold them at dozen locks for

Rs. 52. The number of locks he should

sell to gain Rs. 900 is
(a) 1,400

(b) 600

(c) 1,800

(d) 2,000

The Ratio of the number of Rose plants

to the number of Sunflower plants in a
Garden is 3:5. If there are 25 Sunflower
plants in the Garden, find the number of
Rose plants in the Garden.

(a) 14
(b) 12
(c) 15
(d) 10

Rs. 680 is divided among A,B,C such
that A gets % of what ;‘B” gets and ‘B’
gets % of what “C” gets. Their shares
respectively are °

(@) Rs. 75, Rs. 325, Rs. 280

(b) Rs. 80, Rs. 120, Rs. 480

(¢) Rs.90, Rs. 210, Rs. 380

() Rs. 100, Rs. 200, Rs. 380
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The Instrument which measures
Air-Pressure is

(a) Hydro-meter
(b) Hygro-meter
(c) Baro-meter

(d) Alto-meter

The highest post in Police Dept. of
Karnataka State is

(a) Inspector General of Police

(b) Additional Director General of
Police

(c) Director General of Police

(d) Director General and Inspector
General of Police

Kuduremukha is famous for
(a) Manganese ore

(b) Iron ore

(c) Aluminium ore

(d) None of the above

The first Indian Scientist who has been
awarded with Bharat _Ratna was

(a) C.V. Raman
(b) J.C. Bose
(c) Chandra Shekhar

(d) A.P.J. Abdul Kalam

The Present R.B.l.'s Governor is
(a) Dr. Y.V. Reddy

(b) Dr. D. Subba Rao

(c) Dr. C. Rangaraj

(d) Dr. Urjit R. Patel
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In which State Silent Valley is located ?

(a) Karnataka

(b) Tamil Nadu

(c) Kerala .i

(d) Arunachal Pradesh

In which solution gold is soluble ?
a) In Acids

b

)

) In Alkalies

(c) In Silver Nitraté
)

(
(
(d) In Aquaregia

Unit of Pressure is
(a) Newton.

(b) Kilogram wt.
(c) Litre

(d) Pascal

Which gas is used by plants in
photosynthesis ?

(@) Carbon Dioxide
(b) Oxygen

(c) Nitrogen

(d) Helium

Washing soda is the common name of

(a) Sodium Carbonate
(b) Calcium Bicarbonate
(c) Sodium Bicarbonate

(d) Calcium Carbonate
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Which among the following city is called
as Silicon Valley of India ?

(a) Bengaluru

(b) Ahmadabad
(c) Hyderabad
(d) J&K

The celebration of Navratri festival was
started by which King of Mysore ?

(a) Raj Wadiyar

(b) Kanteerava Narasaraj Wadiyar
(c) Chikkadevaraj Wadiyar

(d) Doddadevaraj Wadiyar

“KAIGA” plantis

(a) Hydro Electric Plant
(b) Solar Electric Plant
(c) Atdmi_c Electric Plant

(d) None of the above

Which of the following place of Satyagraha

is known as the Jallianwala Bagh of
Karnataka ?

(a) Ankola

(b) Srirangapatna
(c) Vidurashwath
(d) Shivapura

Which of the following place has been
declared as the World Heritage Site ?

(a) Srirangapatna
(b) Beluru-Halebeedu
(c) Hampi

(d) Bengaluru
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The Radchife hne 18 a boundary
between

(a) Incha and Pakistan

(b) India and China

(c) India and Myanmar

(d) Pakistan and Afgharistan

Which of the following passes through
India ?

(a) Equator

(b) Arctic Circle

(c) Tropic of Caprnicorn

(d) Tropic.of Cancer

Which of the following are the youngest
mountain in the world ?

(a) Aravali
(b) Himalayas
(c) Andis

(d) Alps

Pyramids are located on the banks of
river

(a) Amazon
(b) Indus
(c) Nile

(d) Danube

The animal kingdom found in a particular
geographical region is called

(a) Fauna
(b) Flora
(c) Biosphere

(d) Hydrosphere
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Which of the following Writs is issued
by courts in case of illegal detention of a
person ?

(a) Quo-warranto

(b) Habeas Corpus

(c) Mandamus

(d) Certiorari

The salaries of the judges of the
Supreme Court are drawn from

(a) Grants in aid

(b) Public accounts
(c) Contingency fund
(d) Consolidated fund

Chandrayan — |, Indian first mission to
moon was launched in

(a) October 22, 2008
(b) October 22, 2006
(c) November 22, 2010
(d) November 22, 2012

“Panchayat Raj” is a system of
(a) Rural Government

(b) Local Administration

.(c) Local Self Government

(d) Rural Local Self Government

Who is the highest Law Officer in India ?
(a) Attorney General

(b) Advocate General

(c) Solicitor General

(d) Secretary General, Law Dept.
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67.

68.

69.

70.
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«Ninasam” a Drama and Culturaj
Organisation situated in which town of
Karnataka ?

(a) Putturu

(b) Madduru

(c) Heggodu

(d) Bellary

Which of the following is a chemical
fertiliser ?

(a) Sodium Nitrate

(b) Sodium Peroxide

(c) Sodium Carbonate

(d) Sodium Thiosulphate

The world famous Ajanta Caves are

situated in which one of the following
states ?

(a) U.P.

(b) M.P.

(¢) Maharashtra
(d) Jharkhand

Excise Duty means, Tax on the following
(a) Production of Goods

(b) Sale of Googs
(c) Purchase of Goods

(d) Consurnption of Goods

The first Hydro Electric Plant in India is

(a) Shivanasamudra Waterfalls
(b) Gokak Falls

(€) Jog Falls
(d) Abbi Fajg
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Optical fibres are mainly used in
(a) Musical Instrument

(b) Food Industry

(c) Wearing Industry

(d) Communication

Nuclear fission is caused by impact of
(a) Neutron

(b) Proton

(c) Deuteron

(d) Eleetron

Nautical mile is a unit of difference

F

used in

(a) Navigation
(b) Road mile
(c) Astronomy
(d) Boundary of a nation

Which super computer is developed by
the Indian Scientists ?

(a) Sequia
(b) Param
(c) Jaguar
(d) Mira

The power house of the cell is
(a) Lysosome

(b) Ribosome

(c) Mitochondria

(d) Golgi complex
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Who among the following has been
called as the Napoleon of India ?

(a) Samudra Gupta
(b) Chandra Gupta
(c)

(d)

Ashoka

Harshavardhana

Who started Bhoodan Movement ?
(a) Mahatma Gandhi

(b) Jaiprakash Narayan

(c) Aurobindo Ghosh

(d) Acharya Vinoba Bhave

Which of the following is the largest
Island ? '
(a) Cuba

(b) Great Britain

(c) Green Land

(d) Sri Lanka

Mount Everest, the highest peak in the

world is located in

(a) Bhutan
(b) China
(c) India

(d) Nepal

Which has the following fertilizer has
more Nitrogen content ?

(a) Urea
(b) Ammonium Sulphate
(c)
(d)

d) Ammonium Phosphate

Potassium Nitrate

St T i
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The River Krishna does not flow in the
following Districts

(a) Belgaum

(b) Vijapur

(c) Dharwad

(d) Raichur

Old name of Istanbul is
(a) Hulas

(b) Ankara

(c) Antalya

(d) Constantinople

The average age of a class of 22 students
is 21 years. The average increases by
1 year when the'teacher's age is also
included. Whatis the age of the Teacher ?

(a) 48 Years
(b) 45 Years
(c) 43 Years
(d) 44 Years.

A family has a man, his wife, their four
sons and their wives. The family of every
son also has 3 sons and one daughter.
Find the total number of male members
in the whole family

(a) 5

(b) 10
(c) 16
(d) 17

K is the brother of N and X. Y is the
mother of N and Z is the father of K. Which
of the following statements is not true ?
(a) Kis sonofZ

(b) Y is wife of Z

(c) N is always brother of X

)
(d) Zis father of X
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87.

88.

“Cloud seeding” is done by using
(a) Silver lodide

(b) Sodium Hydroxide

(c) Potassium Chloride

(d) Carbon Monoxide

The average of five numbers is 39.20. If
the average of 3 of them be 41.00. What
is the average of remaining two numbers ?

(a) 36.0
(b) 36.5
(c) 375
(d).38.2

Convert }é to a decimal fraction.

(@) 0.0125
(b) 0.125
(c) 1.25
(d) 125

In what time will Rs_ 5

interest at the rate
interest 2

(a) 2 years
(b) 3 years

00 give Rs. 50, as
of 5% P.A. simple
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The battle botween Alexander and Porus
took place on the bank of river

(a) Sutlej
(b) Ravi
(c) Jhelum
(d) Ganga

“Swaraj Party” was formed by _
(a) C.R. Das and B.G. Tilak

(b) Motilal and Moulana Azad

(c) Jawaharlal Nehru and.Jinnah

(d) C.R.Das and Motilal Nehru

“Mohenjodare” is situated in

(a) Sindh Province of Pakistan
(b). Guijarat

(c) Punjab

(d) Afghanistan

Harshavardhana was defeated by
on the bank of Narmada.

(a) Pulikeshi— Il
(b) Kirtivarman
(c) Amoghavarsha

(d) Narasimhavarman

Guru Govind Sing was killed in 1708 at
(a) Amritsar

(b) Keertapur

(c) Nanded

(d) Anandpur
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45 men complete a piece of work in

days working for 12 hrs. a day. In
gow E::any days 60 men complete the
0
work working 10 hours a day ?

(a) 27 days
(b) 30 days
(c) 24 days
(d) None of the above

harat travel the same
z:tr;n:en; tEe speed of 6 Kms Qer hour
and 10 Kms per-hour respectively. |f
Ram takes 30 minutes longer than
Bharat, the distance travelled by each is
(a) 6 Km.
(b)- 10 Km.
(c) 7.5Km.
(d) 20 Km.

Who is called as the “Father” of
Karnataka Music ?

(a) Kanakadasa
(b) Vijaydasa

(c) Purandaradasa
(d) Vithaldasa

History of Kannada Languages was
written by

(a) E.P. Rice
(b) Edward Rice

(c) R. Narasumhachar
(d) B.L. Rice

The Chief Justice of the Supreme Court
of India is

(@) SriH.L. Dattu

(b) Sri TS, Thakur

(¢) Sri Rangan Gogoi
(d) Srikg. Balkrishnan
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